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4x8=____

60 pour aller a 70 - ____
62 + 20 = ____

860 + ____ =900

12 x10 = ____

Le double de 110 est : ____
bxb=____

92+ ____ =100
31+30=____

290 pour aller o 300 - ____

1
12
13
14
15
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20

49 pour aller a 50 -+ ____
44 + 30 = ____

580 + ____ =600
20 x 1000 = ____

Le double de 60 est -
9x8=____

47+ =50

91+ 70 = ____

170 pour aller a 200 -
18 x 100 = ____

CRALCYL WENTAL GCLy2

=

O 0O Co W Oy U N W N

6x8=____

47 pour aller a 50 : ____
48 +40 =

180 + ____ =200
6x10=____

Zx9=____
36 + = 40

83+90 = ____

1
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34+ 70 = ____

120+ ____ =200

15 x 1000 = ____

Le double de 80 est - ____
2XF=____

56+ ____ =60

50 +10 = ____

640 pour aller a #00
17 x 100 =

/20

Réponses
col 1 col 2
32 1
10 #4
82 20
40 20000
120 120
220 72
36 3
8 161
61 30
10 1800
Réponses
col 1 col 2
48 5
3 104
88 80
20 15000
60 160
220 14
63 4
4 60
173 60
30 1700




